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Chapter 3.4—Piecewise Linear functions, and cell phone plans
Name______________

1. Verizon Wireless offered the following plans as of October 2006.  I have rounded the monthly fees from $39.99 to $40, for example, to keep the arithmetic easier.
	 
	Base

Minutes
	Monthly

Fee
	Additional

Minutes

	Plan#
	
	
	

	1
	450
	$40 
	$0.45 

	2
	900
	$60 
	$0.40 

	3
	1350
	$80 
	$0.35 

	4
	2000
	$100 
	$0.25 

	5
	4000
	$150 
	$0.25 

	6
	6000
	$200 
	$0.20 


If you plan to consistently use 700 minutes per month, which plan should you choose?  What will be your monthly bill?

List some assumptions that we are making:

2. Graph the total bill versus the number of minutes used for plan #1.  You will have to decide on the data points for yourself.
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 Does this look like our “economies of scale” graphs or our “diseconomies of scale” graphs?
3. Suppose we look at our usage for the past year, month-by-month, and find this.  What was our average number of minutes per month?
	Month
	Minutes

	1
	904

	2
	741

	3
	621

	4
	909

	5
	610

	6
	814

	7
	691

	8
	686

	9
	997

	10
	884

	11
	931

	12
	870


What is the average number of minutes we use per month? Answer: 804.8333
If we had been on plan #2 for that year, what would we have spent on cell phone service for the year? Answer: $776.40
